AW OB OB O
EXB 2% %5708 XA ERKEEBISE
5 BT A AR T K112 P AfLERR SF24E11 848

F RE M8 4,119,500 | Z#32HI%E 4,114,000
ML X F A (110&5&@0@%&%) (115:‘%)%@%%) (1%&?051&;&)%%@) (11?6?‘%)%%0%%3%)
1 | EIRERER 3,740,000

2 |BR=HHEESR 3,780,000

3 | EEEEEER 3,800,000

4 |BR=HHAEEESR 3,810,000/

5 |BRS#HXEHR 3,830,000

6 |[BRs#EALK 4,000,000

AW OB OB O
EXA 2% #5718 X)X ERKEEFEBISE
5 BT A AR T K )11 2 P AfLERRA SR24E11 548

F R ffi4% 2,882,000 | H“#LHKIEE 2,878,700
N X 7 A (110&5&@0@%&%) (115:‘%)%@%%) (1%&?051&;&)%%@) (11?6?‘%)%%0%%3%)
1 |ARE#IOYF 2,617,000

2 |ARSHXAIE 2,660,000

3 |BER=#EBEES 2,690,000

4 |HASHXBEE 2,750,000
ZiE | ARSHEERE ZiE
ZEiE | ARSHENE ZiE




AR O#H OB OR
EX4A 2% ¥E573F HMEHRRE ERKEFEBIFE

5 Fr B AAR T A3 A AfLEFEAAR S2eE11848

FEME 2,192,300 | H#)RH%E 2,189,000
ML x & A (1106];\\01:%?0*)%&%) (115:‘%)%@%%) (1%&?051&;&)%%@) (11?6?‘%)%%0%%3%)
1 B XERE 1,990,000/

2 |ARS#HXHITE 2,130,000

3 |AR=#IOYF 2,160,000

3 |AR=#REERK 2,160,000
ZiE |ARSHEEER e
ZiE |ARatENRE e

AR O#H OB OR
EXB 2% F572F5 HZER ERKEEEISE

5 Fr B AAR T A A AWLFEAAR S2fFE11848

FEME 1,647,800 | )R KI%8 1,644,500/
N x & A (110&5&@0@%&%) (115:‘%)%@%%) (1%&?051&;&)%%@) (11?6?‘%)%%0%%3%)
1 |AR=tEERK 1,495,000
2 |ARS#HXHITE 1,530,000
3 |ARz#/OYF 1,550,000
4 |HRAEHKERE 1,700,000/
ZiE |ARSHEEER e
ZiE |ARatENRE e




AW OB OB O
=g 2% %5645 BMIEAIKEERIBIE
5 BT A AR T K ) 112 P AfLERR SF24E11 848

FRE 4% 4,419,800 | ZH#3LHI%E 4,416,500
IR x & A (110&5&@0@%&%) (115:‘%)%@%%) (1%&?051&;&)%%@) (11?6?‘%)%%0%%3%)
1 |ARE#HERERK 4,015,000

2 |BER=#HEESR 4,140,000

3 | AERBER 4,150,000

3 |[MHA=uiEE 4,150,000

5 |BR=#XEA 4,174,000

6 |[AR=#EALK 4,300,000

AW OB OB O
EXB FH2FK 39-1003F F)IIMR KERKEEIELE
5 Be] A AR T i A 1 P AfLERR SF24E11 848

F RE M8 4774000 | Z#)32H9%E 4,730,000
IR X & A (110&5&@0@%&%) (115:‘%)%@%%) (1%&?051&;&)%%@) (11?6?‘%)%%0%%3%)
1 (AL AERBER 4,300,000

2 |BER=#HEESR 4,360,000

3 |BAR=#AEEESR 4,400,000

3 |MX=uinEE 4,400,000

5 |BRS#HXEHA 4,420,000

6 |[BR=#EALK 4,500,000




A O#H OB OR
e X2 TH2FK 39-1002%5 HHFTFHE KKKEEIBIE
5 Fr B AAR T R A3 A AWLEFEAAR S2&E1184A

FEME 3,788,400 | H#IRKIEE 3,784,000
ML x & A (110&5&@0@%&%) (115:‘%)%@%%) (1%&?051&;&)%%@) (11?6?‘%)%%0%%3%)

1 |AR=#I/O09+ 3,440,000M

2 |ARS#HXHITE 3,500,000

3 |AR=HEERK 3,540,000

4 |BAHXBRE 3,600,000
ZiE |ARSHEEEK e
ZiE |ARtENRE e

AW O#H OB OR
e X2 TH2EK 39-25 MAFTHR RHMKEEBIE
5 Fr B AAR T R A3 A AWLFEAAR S2&E11848

FEME 607,200M| H#)RHI%E 605,000M
1105&%%?@?@% 552,000F %ﬁoﬁ)%ﬁﬁﬁ?ﬁ 550.000F
N x & A (110&5&@0@%&%) (115:‘%)%@%%) (1%&?051&;&)%%@) (11?6?‘%)%%0%%3%)

1 |AR=tEERK 550,000M

2 |ARS#HXHITE 590,000

3 |AR=#IOYF 600,000

4 |HAHXiBRE 640,000
ZiE |ARSHEEER e
ZiE |ARatENRE e




A L OB R %
=g SH2EE ERMFERESE ERE HEREEXEHRERT
5 P FI AR TR I A A Af £ HH S 2511848

F el 4,255,900/  H#)EKYER 2,854,500/

LR D ZHHFLREED
11053 0> 1000 i 3.:869.0001 1 7043 > 100> it 2,595,000F
B r = AFL{fiFE B AL B R AFLmE RIEZE(REZE)

(110> D 100D i) | (11052 D 100D 1) | (11053 D 100D1M4E) [(11053 D 100D %)

1 |%XEx 7T—RTY/ 2,595,000

2 |[BRETAREZHH®ASH 2,880,000

3 |[#%KX&st BERCH TV 3,290,000

4 |UEFHEHBH(RASH 3,750,000

5 |#%X=t BRI 3,850,000M




